Hog Production or Weight Gain
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ADVANCE \D 6.0  

Problem: determine combination of corn, C, and protein supplement, P, which will minimize cost of producing 40 lb. weight gain in hogs
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Solution Method  Find intersection of isoquant and isocost  

ADVANCE \D 6.0
slope of isoquant = slope of isocost
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       Estimated hog weight gain isoquants

       Q = 40 lbs  (from 60 to 100)

ADVANCE \D 6.0              50 lbs  (from 100 to 150)

ADVANCE \D 6.0              65 lbs  (from 150 to 215)

  For Q = 40    ln(C) = 6.163 - 0.5898 ln(PS)  => 
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So technical rate of substitution is 
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   Use forward prices to predict and plan   




Price ratio from April,1973 = PPS/PC = 3.62


  Optimum       280.07PSADVANCE \U 6.0-1.5898ADVANCE \D 6.0 =  3.62

                   PS = [280.07/3.62]ADVANCE \U 6.0(1/1.5898)ADVANCE \D 6.0 = 15.41

                   C = 474.85PSADVANCE \U 6.0-0.5898ADVANCE \D 6.0  =  474.85(15.41)ADVANCE \U 6.0-0.5898ADVANCE \D 6.0 

                                        =  474.85/15.41ADVANCE \U 6.00.5898ADVANCE \D 6.0  =  94.62

     ADVANCE \D 6.0Optimal Combination --  PS = 15.41 and C = 94.62

  Homework  for Q = 50  ln(C) = 6.2292 - 0.4405 ln(PS)

ADVANCE \D 6.0                             April,1975  PPS/PC = 0.95   Find optimal combination
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